Name:
Math 208H, Section 002
Exam 2.

Show all work. How you get your answer is just as important, if not more important, than
the answer itself. If you think it, write it!

1. (15 pts.) You are on the north side of a 2 mile wide river, which is flowing from west
to east at 3 miles per hour. You cross the river in a boat, which you keep pointed in

a southwesterly direction, at a steadily increasing velocity of v2(1 + 6t) miles per hour.
Where will you finally hit the southern bank of the river?
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2. (15 pts.) Find the second partial derivatives of the function
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3. (15 pts.) Find the equation of the tangent plane to the graph of the function
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at the point (2,0,f(2,0)) .
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q X (15 pts.) Let z = f(z,y) be any function with continuous second partlal derlvatlves

and suppose that .
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5. (20 pts.) Find the local extrema of the function
f(my) = 22° +ay® + 4°

and determine, for each, if it is a local max. local min, or saddle point.




6. (20 pts.) Find the point(s) on the ellipse

g(z,y) = o* +3y° =4 \=2A0=0 no
where the function
flz,y) =z —3y+4 \

achieves it maximum value.

X430t =Y = »
" = "oty g2
(\)"}) ) ("\)\)

P(1,-) = | v3x1= . S— max
() 30



